Insufficient information with respect to fossils of agnostics, caused the author to proposed three theories about the life of these creatures. The author believes that the agnostics were A) free swimming predator, B) seafloor dwellers and C) parasites. The lecturer has other ideas, which contradict with the suggestions of the author.
First the author supposes that the agnostics were free swimming predators that hunted smaller animals. But the lecturer disagrees with this notion. She asserts, in order to being a predator animal must have wide and strong eyesight’s, while the agnostics had small and poor eyes. Moreover, if they were predator it might be because of some other sensor that they had, which has not been found on their fossils.
Second, the author thinks they were seafloor dwellers. In contrast the lecturer refuses to believe this idea and state that the seafloor dwellers move slowly and occupy a small habitat because of their nature. However, the agnostics lived in large areas that scattered throughout the ocean. Therefore, they must have moved fast.
For the last reason the author presumed that the agnostics must have been parasites. Then again, the lecturer does not adhere with this idea and not accept it. She points out that generally parasites are having a small population, because if they become abundant, they can bring doom to their host. Agnostics could have not been parasite, simply because they lived in great numbers.
Consequently, those are the reasons that the lecturer posited in order to show her opposite opinion towards the viewpoint of the author.
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